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Outcome 1 - Problems in Context

Choose your strategy for the following
questions...then solve the problem!

Alison has treated herself to a

new cappuccino machine that T
can hold a maximum of 1-5 litres -
of water. Her coffee mugs hold G4

200 ml. How many cappuccinos
can she make when her machine is
filled to the maximum level with water?

Apples are sold in bags of 8. How
many bags are needed to hold 198

apples?

Outcome 2 - Long Multiplication

Work out the answer to the following...

oo 426 x 573

Outcome 3 - Long Division

Work out the answer to the following...

_g 11172 + 196
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